Unit 9 Vocabulary Standard test Unit 9 Vocabulary Standard test

1 Complete the sentences with the words below. (7 marks) 3 Choose the correct words. (5 marks)
klose-knit _combustion congested footprint _pedestrianised _simplify worsened| 1 The TV channel showed an old film in place / search of the live concert.

1 If you drive everywhere, you probably have a large carbon .
y rywnere, you p 4 9 - 2 Faisal was hungry so he went in course / search of food.

2 We hoped that the situation would improve, but it has : .
3 Inthe course / place of our conversation, | discovered that Sam was keen on cars.

3 The Johnsons are famil d th t Il wi :
L a___ familyandthey geton well with each other 4 Incase / light of what the scientists have discovered, we should ban the use of these
4 | don't understand the instructions. Can you the language for me? ’
S —- chemicals.
5 The internal engine is responsible for much of the air poliution in the city. e i
—_ & R much of the air poilutian in the city. 5 Please leave the building quickly in favour / case of fire.
6 The streets are and the traffic is moving very slowly.
7 The town centre is more pleasant to walk in since they the high street. 4 Read the definitions and write the words. (6 marks)

1 pieces of thick material that protect the lower front part of your leg when you are playing sports:

2 Match the sentence beginnings with the sentence endings. (7 marks) sh P s

1 1would like to travel in a gree ; .
' nagreen 2 sandals that have a piece of leather or plastic that goes between your big toe and the toe next

2 Most business

toit:f___ pf___ ps
3 Rio de Janeiro has some of the worst traffic :
3 alarge bag for carrying clothes when you are travelling:h ___ d__1__
4 Seoul has one of the best public transport ’
P p 4 an object that protects you fromtheraintb __ ¥
5§ There is a congestion . "
— 5 a cardboard or plastic cover for holding papers:f______ _ r
6 Unless we reduce carbon . ;
6 awooden or plastic object that helps youwalk:w __ -

7 You should avoid the city centre in the rush

a charge of £11.50 a day in certain parts of London.
b commuters use the Underground to get to work.

¢ congestion in the world.

d emissions, global warming will continue to increase.
e hour.

f networks in the world.

g vehicle like a solar-powered car.

Totalmarks: ____ /25
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